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※考生請注意：本試題不可使用計算機。 請於答案卷（卡）作答，於本試題紙上作答者，不予計分。

1. {10%) lfw巴 have the Fouri r transfor『n pair x [n] and x(e川）， please exp陀岱 the F。L ier t削sf，口rm of 

x[n﹞ － x＇ ﹝一η﹞
y﹝吋＝一一2

intermsof x(ejw). 

2. {10%) Find and sketch the inverse Fourier transform of 
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3. {10%}Please find the inverse Fourier transform of 

XUw) ＝~于一(2 + jw)3' 

4. {15%) Please find 
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5. (10%) Let XUw) be the spectrum of the signal x(t) ＝ π·u(t-2）一 π ·u（一t - 2). Find XUO). 

6. {10%} Please find the Fourier transform of 

x（加削（f）州州）
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7. {15%) Consider the cascade of two linear time-invariant (LTI) systems with impulse responses h1[n]= 
ecos（πn•) and h2[n]= e 201s刊﹝n]. Please find the output y[n]= h2[n]* h1 ﹝η﹞＊ x[n] if the input 

x﹝η﹞＝ ezo1s0﹝η﹞ － o﹝η － 1﹞． 

8. (20%) For a discrete-time L Tl system with the impulse response h[n ], show that this LTI system is 

bounded-input bounded-output (BIBO) stable if and only if 

之 lh﹝k﹞︱〈∞




